IK: - dynabook

PARTS LIST
| SKUNo [Short]: ]
SeqNo LocNo

1 01
2 01
3 03-B
4 05-A
5 05-A
6 05-E
7 05-E
8 05-E
9 08
10 08
11 09-D
12 09-D
13 10
14 10
15 10
16 10
17 10
18 12-B
19 12-B
20 13
21 14
22 15
23 16
24 17
25 18
26 20-A
27 21
28 21
29 22
30 23
31 23
32 24
33 25
34 27
35 27
36 29
37 29
38 30
39 31
40 40
41 47
42 48
43 49
44 50
45 51
46 55
47 57
48 58
49 60-D
50 61
51 62
52 63
53 64
54 65
55 66
56 67
57 68
58 69
59 70
60 71
61 72
62 73
63 74
64 75
65 76
66 78
67 79
68 80-A
69 80
70 80
71 90
72 A01
73 S01
74 S02
75 S03
76 S04
7 S05
78 S06
79 S07
80 S08

81 S09

Portégé X40-J

PPH11E

P000823720
P000837430
P000789310
P000795600
P000821740
P000835320
P000828500
P000830030
P000834450
P000817340
P000537110
P000644720
P000826050
P000823740
P000823730
P000833450
P000833460
P000826370
P000826380
P000823770
P000816110
P000823780
P000823790
P000823800
P000824200
P000824270
P000823820
P000823880
P000823830
P000823850
P000823840
P000823860
P000823870
P000823890
P000823900
P000824290
P000824280
P000823910
P000823920
P000823930
P000823940
P000730900
P000823950
P000823960
P000823970
P000823980
P000823990
P000777750
P000828920
P000824010
P000824020
P000824030
P000824040
P000824050
P000824060
P000824070
P000793850
P000824080
P000824090
P000824100
P000824110
P000824120
P000824130
P000824140
P000530560
P000827080
P000824150
P000835410
P000837440
P000824160
P000523000
P000554100
P000824170
P000824180
P000729980
P000794070
P000716570
P000717950
P000769610
P000729990
P000824190

PN

Categor!
PCB

LcD
SsD
SsD
SSD
SsD
SsD
ADP
ADP
ACC
ACC
LB
LB
LB
LB
LB
HAR
HAR
com
com
FAN
ETC
SPK
HAR
TP
HAR
HAR
ANT
HAR
HAR
ETC
cus
HAR
HAR
HAR
HAR
cov
cov
cov

ETC
ETC
cov
cov

PCB
LAB
ETC
SCR
SCR
SCR
SCR
SCR
SCR
SCR
SCR
SCR

MOTHER BOARD ASSY

LCD 14.0 FHD

SSD M.2 512GB

SSD M.2 512GB

SSD M.2 512GB

SSD M.2 512GB

SSD M.2 512GB

AC ADAPTOR 3PIN 65W

AC ADAPTOR 3PIN 65W

AC CORD SET(3WIRE)

AC CORD SET(3WIRE)
BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
BATTERY PACK 4CELL U30
LCD HARNESS

LCD HARNESS

FA CAMERA MODULE
WLAN+BT COMBO MODULE
COOLING FAN

HEAT SINK

SPEAKER ASSY

FPC DUAL BUTTON
SECURE PAD W/MYLAR
FFC SYS - CLICK PAD

FFC CLICK PAD

ANTENNA MAIN AUX
CAMERA HARNESS
CAMERA HARNESS

CAM PANEL IR

SQUARE CUSHION

FFC SYS - SUB BOARD
FFC SUBBOARD

FFC SYS - FINGER PRINT
FFC SYS - FINGER PRINT
HINGE L ASSY

HINGE R ASSY

BASE ASSY

INSU MEMORY
ACCCUPOINT CAP

COOL SHEET

LCD COVER ASSY

LCD MASK ASSY

CAMERA SHUTTER

AL TAPE

GASKET

KB COVER ASSY

C PAD RIM ASSY

DUAL BUTTON

DUAL BUTTON PLT

INSU COVER GRAPHITE
INSU D BUTTON PLT

CU LAMI COVER
INSULATOR WLAN
INSULATOR SQUARE
INSULATOR SQUARE
CUSHION LED

GUM CUSHION

GUM CUSHION

RUBBER HNS HLD
SQUARE CUSHION
GASKET TAPE CPAD
GLASS CLOTH TAPE
INSULATOR SQUARE
NON-WOVEN CLOTH SHEET
CONNECTOR BOARD ASSY

CONNECTOR BOARD ASSY
CAUTION LABEL

CLEANER CLOTH

SCREW M2.5X2.5 THIN PAN
SCREW M2.5X3.5 THIN PAN
SCREW M2.5X5 FLAT HEAD
SCREW M2X2.3 FLAT HEAD
TSCREW M2X3 3CR
SCREW M2X2 FLAT HEAD
SCREW M2X5 THIN PAN HEAD
SCREW M2X2.5 FLAT HEAD
SCREW M2X3.5 THIN PAN

Remarks

A5A004676070 FSAPSY3

A5A004677010 FSAPCN2



IK: - dynabook

DRAWING | 1




K: - dynabook

DRAWING | 2




